DHP DHP

HSK-A-DHP Hydraulic Chuck HSK-A-DHP Hydraulic Chuck
HSK-A-DHP i B8 714 HSK-A-DHP & B 71#% ( MR )

MAX T

30,000 L
L BlgE RS T =8
27 T [ Specification d Suit collet Wrench Weight
L - - S HSK63A- DHPG-150 6 28 50 275 10 103 150 M5X0.8 : T04 1.3 s
Mg T DHP6-200 6 28 50 275 10 103 200 MS5X0.8 - T04 1.65 i
DE DHPB-150 8 30 50 275 10 104 150 M6XL.0 : T04 1.44 72
L DHP8-200 8 30 50 275 10 104 200 M6X1.0 - TO4 1.74 e
DHP10-150 10 32 50 32.5 10 104 150 M6X1.0 - T04 1.51
DHP10-200 10 32 50 325 10 104 200 M6X1.0 - T04 1.9
N RIGE GIEEES ES =2 DHP12-150 12 34 50 37.5 10 105 150 M6X1.0 D12/0D12 T04 1.58 .
2 Specification Suit collet Wrench Weight DHP12-200 12 34 50 375 10 105 200 M6X1.0 D12/0D12 TO4 1.92 &
e HSK40A- DHP6-70 6 28 34 275 10 28 70 M5X0.8 _ TO4 0.55 DHP14-150 14 36 50 37.5 10 105 150 M6X1.0 - TO4 2.11 e
S 8 30 34 275 10 28 70  MeXLO i T04 0.56 DHP14-200 14 36 50 375 10 105 200 M6XL.0 . T04 2.52
DHP10-75 10 32 34 325 10 34 75  MGXLO _ T04 0.61 DHP16-150 16 38 50 425 10 106 150 MB8X1.0 - T04 1.71
?‘;f DHP12-85 12 34 34 375 10 ) 85 M6X1.0 D12/0D12 TO4 0.68 DHP16-200 16 38 50 425 10 106 200 M8X1.0 - T04 2.46 ;!';%
Z: HSK50A- DHPE-70 6 28 40 275 10 28 70  M5X08 : T04 0.74 DHP18-150 18 41 50 425 10 107 150 MB8X1.0 . T04 1.83 ik
S 8 30 40 275 10 28 70  M5X08 i T04 0.75 DHP18-200 18 41 50 425 10 107 200 MB8X1.0 - T04 2.55
DHP10-75 10 32 40 325 10 34 75  M5X08 _ To4 0.82 DHP20-150 20 43 50 425 10 108 150 M8X1.0 D20/0D20  T04 1.91
. DHP12-85 12 34 40 375 10 44 85 MsxLo DI12/0D12  TO4 0.87 DHP20200 20 43 50 425 10 108 200 M8X1.0 D20/0D20  T04 2.67 .
ns DHP14-85 14 36 40 375 10 44 8  M8X1.0 - TO4 0.90 s
DHP16-90 16 38 60 425 10 30 90 M8X1.0 - T04 0.94 . .
DHP18-90 18 41 - 425 10 - 90  MS8X1.0 - T04 0.96 HSK-A-DHP Super Slim Hydraulic Chuck
. DHP2090 20 42 - 425 10 - 90 Mex1.0 D20/0D20 T4 0.99 HSK-A-DHP #B#lif= & B T1 4R i
82 HSK63A- DHP6-70 6 28 50 275 10 24 70 M5X0.8 - 704 1.01 g
" DHP8-70 8 30 50 275 10 24 70 Mex1.0 : T04 1.02 MAX L
DHP10-75 10 32 50 325 10 35 75 M8X1.0 - TO4 1.08 30,000
DHP12-85 12 34 50 375 10 40 8 M8XL.0 DI2/0D12 T04 1.13 min- H
,?% DHP14-85 14 36 50 375 10 40 85 M8X1.0 - T04 1.17 | H ;%
?i DHP16-90 16 38 50 425 10 46 90 M8X1.0 = T04 1.21 7/‘ T e — ?;E
E DHP18-90 18 41 50 425 10 47 90 M8X1.0 - T04 1.22 - E —— - = als S
DHP20-90 20 43 50 425 10 48 90 M8X1.0 D20/0D20 T04 1.25 !
DHP25-120 25 57 63 51 10 59 120 M16X1.0 - TO5 2.17
DHP32-125 32 63 75 55 10 63 125 M16X1.0 D32/0D32 TO5 2.54
HSK100A- DHP6-75 6 28 54 275 10 26 75 M5X0.8 - T04 2.40
DHP8-75 8 30 54 275 10 26 75 M6X1.0 - T04 241
DHP10-90 10 32 50 325 10 42 90  MSXL.0 : T04 248 B AR ¥ =E
EEYE 12 34 50 375 10 47 95  MsxLo D12/0D12 T04 553 Specification d T Suit collet Wrench Weight
DHP14-95 14 36 50 37.5 10 47 95 M8X1.0 i T04 258 HSK63A- DHP6S-120 6 14 48 26 57 70 120 25 98 Mb5X0.8 - T04 1.10
DHP18-100 18 41 50 425 10 53 100 M8X10 - T04 266 DHP83-120 8 17 4-8 28 52 70 120 31 95 M6X1 - T04 120
DHP25-120 25 57 63 51 10 62 120 M8X1.0 - T05 3.39 DHP10S-120 10 19 48 30 52 70 120 33 94  M6XI - T04 1.20
DHP32-125 32 63 75 55 10 62 125 MSX1.0 D32/0D32 T05 3.66 DHP10S-150 10 19 48 30 52 87 150 33 124 M6X1 - T04 1.40
. REBSIRTF, BkEEBITE, DHP12s-120 12 21 48 32 52 70 120 36 93 MeXl DI12/0D12 TO4 1.20
Notice:Wrench is mcIuded whlle collet shall be ordered separately. DHP12s-150 12 21 48 32 52 87 150 36 123 M6X1 DI12/0D12 T04 1.40
I BERSIRF, ARFEFHIE,
Notice:Wrench'is mcluded while collet shall be ordered separately.
4% 25 / Feature
WDHPTIARSIREEHE. SHEZVHIMT, YIHIRRE,  MFor highspeed and high precision cutting; %% 25 / Feature
WE) FERRE: G2.5; 20,000 rpm. WBalanced: G2.5; 20,000 rpm; S o _ _ o
3D [E Bk ER0.003 mm. EWRunout (X3D): < 0.003 mm. IDHPﬂ%%?HFﬁJ&Eﬁﬁs BREEVIHIMTI, YIHI%RE,  WFor high-speed and high precision cutting;
W) FEERE: G2.5; 20,000 rpm. M Balanced: G2.5; 20,000 rpm;
W3DEZ [ BEEN0.003 mm. MRunout (X3D): < 0.003 mm;
WNRARSEE, MIASRS, MNo interference due to slim design.

’3 DEREK ><DEREK Y




SF SF

HSK-A-SF Shrink Fit Holder HSK-A-SF Shrink Fit Holder
HSK-A-SFe#E N E & TI4R ( —883C ) HSK-A-SFe#E N E & TI4m ( —883K )

MAX L
50,000 - >
min-' Lz(Max? - RgE BE
| o Llin)_ Specification d L2 (Max) L3 (Min) Weight
n V725 7007 i T HSK100A- SF6-85 6 21 27 85 28 18 2.00 "
 § - S [ Hes SF6-130 6 21 27 130 28 18 2.30 e &
Lk - SF6-160 6 21 27 160 28 18 2.62 e
o ! SF8-85 8 21 27 85 34 24 2.00 F:
SF8-130 8 21 27 130 34 24 2.30
G05 SF8-160 8 21 27 160 34 24 2.65
SF10-90 10 24 32 90 40 30 2.20
%3 RIgE B2 SF10-130 10 24 32 130 40 30 2.40 34
- Specification ! L2 (Max) Ls (Min) Weight SF10-160 10 24 32 160 40 30 2.70 e
HSK63A- SF3-80 3 10 10 30 - 9 0.50 SF12-95 12 24 32 95 40 30 2.30
SF4-80 4 10 10 80 - 12 0.60 SF12-130 12 24 32 130 40 30 2.50
F SF5-80 5 10 10 80 . 15 0.70 SF12-160 12 24 32 160 40 30 2.75 o3
pil= SF6-80 6 21 27 80 28 18 0.80 SF14-95 14 27 34 95 42 32 2.35 2
SF6-130 6 21 27 130 28 18 1.00 SF14-130 14 27 34 130 42 32 2.60
SF6-160 6 21 27 160 28 18 1.20 SF14-160 14 27 34 160 42 32 2.85
. SF8-80 8 21 27 80 34 24 0.80 SF16-100 16 27 34 100 42 32 2.50 .
2; SF8-130 8 21 27 130 34 24 1.02 SF16-130 16 27 34 130 42 32 2.80 ?%E
SF8-160 ) 21 27 160 34 24 1.25 SF16-160 16 27 34 160 42 32 3.13
SF10-85 10 24 32 85 40 30 0.90 SF18-100 18 33 42 100 50 40 2.55
SF10-130 10 24 32 130 40 30 1.17 SF18-130 18 33 42 130 50 40 2.85
s SF10-160 10 24 32 160 40 30 1.45 SF18-160 18 33 42 160 50 40 3.21 3
ne SF12-90 12 24 32 90 40 30 0.92 SF20-105 20 33 42 105 50 40 2.60 2z
SF12-130 12 24 32 130 40 30 1.15 SF20-130 20 33 42 130 50 40 2.90
SF12-160 12 24 32 160 40 30 1.55 SF20-160 20 33 42 160 50 40 3.25
,57%% SF14-90 14 27 34 90 42 32 0.95 SF25-115 25 44 gg 115 55 45 2.80 ;%2
?ﬂ}éé SF14-130 14 27 34 130 42 32 1.18 SF25-160 25 44 160 55 45 3.40 ?qEé
: SF14-160 14 27 34 160 42 32 1.60 SF32-120 32 44 53 120 60 50 3.20 5
SF16-95 16 27 34 95 42 32 1.00 SF32-160 32 44 53 160 60 50 3.60
SF16-130 16 27 34 130 42 32 1.21
SF16-160 16 27 34 160 42 32 1.65
SF18-95 18 33 42 95 50 40 1.05 # & / Feature
SF18-130 18 33 42 130 50 40 1.25 WE F&RE: G2.5; 25,000 rpm.  MBalanced: G2.5; 25,000 rpm;
SF18-160 18 33 42 160 50 40 1.70 W 3DEE & [E BEEH0.003 mm. BRunout (X3D): < 0.003 mm.
SF20-100 20 33 42 100 50 40 1.20
SF20-130 20 33 42 130 50 40 1.49
SF20-160 20 33 42 160 50 40 1.80
SF25-115 25 44 59 115 55 45 1.98
SF25-160 25 44 53 160 55 45 2.10
SF32-120 32 44 53 120 60 50 2.10
SF32-160 32 44 53 160 60 50 2.60

HBTHE @.—

See next page *=

>< DEREK >< DEREK




DSF/DG

HSK-A-DSF Shrink Fit Holder

GSK

HSK-A-GSK Hi e
HSK-A-GSKi& 1 1 ﬁ%“

HSK-A-DSFE#ER #4714 ( 9883K ) 5] “Zliﬁs-_
T

BHE
di
d2
D

l Q)

- di

‘>
EHE

L1

« "
% &
=} Q

9 D2
T I

3
g S
2 (=

7 < - 7]
o] L ]
A
RIS LEEF EE &
. Specification Wrench  Weight 7 v . -
2 HSK50A- DSF12-100 50 38 - 74 - 100 L06 0.80 — gﬁs‘ o B 22
W HSK63A- DSF12-100 63 38 - 74 - 100 L06 1.00 "
DSF12-135 63 38 - 109 - 135 L06 1.70 g @ —
HSK100A- DSF12-105 100 38 65 43 33 105 L06 3.40 }

. T BRERSIRF. . u o3
;%g Notice:Wrench is included. - L ?%
% B / Feature RIS &~ EAGX HE

Specification Figure Suitcollet  Weight
05 WE) L& E: G2.5; 25,000 rpm. MBalanced: G2.5; 25,000 rpm; HSK40A- GSK6-60 A 40 195 20 60 40 DSK6 0.47 s
w? W3DEE 1% a1 BEEH0.003 mm. WRunout (X3D): < 0.003 mm. GSK10-75 A 40 27 215 75 55 DSK10 0.50 b
HSK50A- GSK6-60 A 50 195 20 60 34 - DSK6 0.60
GSK6-80P A 50 195 20 80 54  Méxl DSK6 0.80
. . GSK10-75 A 50 27 275 75 49 - DSK10 1.00
z: | HSKADC Precision Slim Gollet Chuck GSKI0-100P A 50 27 275 100 74 MIOxL5  DSKIO 1.0 23
25 | HSK-ADC/MEREZ Je B AN A GSK16-80 A 50 40 405 80 54 - DSK16  1.75 hE
GSK16-100P A 50 40 405 100 74  M16x2 DSK16 2.00
GSK20-100 A 50 48 485 100 74 - DSK20 2.10
MAX . HSK63A- GSK6-80P A 63 195 20 80 54  Méxl DSK6 0.85 e
et L GSK6-100P A 63 195 20 100 74  Méxl DSK6  0.95 i
N GSK10-75 A 63 27 275 75 49 : DSK10 1.00 #
GSK10-100P A 63 27 215 100 74 MI0x1.5  DSK10 1.40 :
GSK16-80 A 63 40 405 80 54 - DSK16 2.00
i =1 5 8o GSK16-100P A 63 40 405 100 74  Mi6x2 DSK16 2.30
| [ HT GSK16-120P A 63 40 405 120 94  M16x2 DSK16 2.50
D ﬂ GSK20-100 A 63 48 485 100 74 - DSK20  2.45
GSK20-120P A 63 48 485 120 94  M16x2 DSK20 2.65
GSK25-100 A 63 55 55 100 74 - DSK25 2.30
GSK25-120P A 63 55 55 - - 120 94  M20x2 DSK25 2.70
Rlgk WHER  RRiEET IHEER TRYEF =2 HSK100A- GSK10-105P B 100 27 275 403 30° 105 76 M10x1.5  DSKIO 2.60
Specification L Suitcollet Tensionscrew Stopscrew  Wrench Weight GSK10-135P B 100 27 275 403 30° 135 106 M10xl.5  DSK10 2.80
HSK50A- DC6-75 50 14 225 34 75 DC6 E050U250 7D6-4 T04 0.67 GSK16-105P A 100 40 405 - - 105 76  Ml6x2 DSK16 2.80
DC6-100 50 14 29 48 100 DC6 E050U500 ZD6-4 T04 0.70 GSK16-135P A 100 40 405 135 106  M16x2 DSK16 3.10
HSK63A- DC6-75 63 14 225 34 75 DC6 E050U200 ZD65 T04 0.80 GSK20-120P A 100 48 485 120 91 ~ MIex2  DSK20 3.00
DC6-95 63 14 29 45 95 DC6 E050U400 7D6-5 To4 0.90 GSK20-150P A 100 48 48.5 150 121 M16x2 DSK20 3.30
DC6-120 63 14 37 53 120 DC6 E050U650 ZD65 T04 1.10 GSK25-120P A 100 55 55 120 91 ~ M20x2 ~ DSK25 3.20
DC6-150 63 14 40 80 150 DC6 E050U950 D65 T04 1.20 GSK25-150P A 100 55 55 - - 150 121 = M20x2  DSK25 3.50
DC8-100 63 22 37 48 100 DC8 E060U400 D82 705 1.10 3 BIREIRFEERSE, AHEA GO KR E E R HKERIEF RB73E,
DC10-110 63 28 45 55 110 DC10 E080U300 7D10-2 TO6 1.20 Notice: Collets and wrenchs shall be ordered separately
DC12-120 63 34 51.5 65 120  DC12 E100U350 ZD12-1 708 1.30
i+ FE
Nohﬁ%ﬁﬁlﬁincmﬁd while cgl?gt shall be ordered separately. i RS
WEFEEERE: G2.5; 25,000 rpm. MBalanced: G2.5; 25,000 rpm;
%% 2 / Feature W 3DEE &[5 BEEH0.005 mm. WRunout (X3D): < 0.005 mm.
W) EERE: G2.5; 30,000 rpm. MW Balanced: G2.5; 30,000 rpm;
W 3DEE &[5 BEEH0.003 mm. WRunout (X3D): < 0.003 mm.
>< DEREK 53 DEREK




ER ER/VER

HSK-A-ER Spring Collet Chuck HSK-A-ER Spring Collet Chuck
HSK AR 1 15 i Ao HOK ARG F 15 56 2

BUSE
Specification
7;’,':] HSK100A- ER40-100 100 63 40 100 71 150 M20X2.0P 4.30 7:13
eh § e, ER40-160 100 63 40 160 131 210 M20X2.0P 5.00 th §
53‘ g L ER40-200 100 63 40 200 171 250 M20X2.0P 5.60 'Jj‘ g
o F: ARMIRFEERITE, ¥ g
D ﬁ @ F Notice: Collets and wrenchs shall be ordered separately.
LQJLEJ | : % 2 / Feature
23 WE) F&RE: G6.3; 15,000 rpm. WBalanced: G6.3; 15,000 rpm;
W RBlgE W3D5E E [ Bk EN0.02 mm. WRunout (X3D): < 0.02 mm.
Specification
HSK40A- ER20-80 40 34 20 80 60 100 - 0.55 HSK-A-VER Tapping Chuck
=t ER25-80 40 42 25 80 60 100 - 0.65 A s > Al felh it
s ER32-100 40 50 32 100 80 120 M10X1.5P  0.90 HSK-AVERTR IR (R BT T14R E
HSK50A- ER16-75 50 28 16 75 34 85 - 0.50
ER16-100 50 28 16 100 74 125 M10X1.5P 0.60
. ER20-75 50 34 20 75 44 95 . 0.70 b I .
%; ER20-100 50 34 20 100 74 125 M12X1.75P 0.90 : %g
" ER25-80 50 42 25 80 44 95 M16X2.0P 1.00 1 I - o "
ER25-100 50 42 25 100 74 125 - 1.10 ‘ T HH !
ER25-135 50 42 25 135 109 160 M16X2.0P 1.40 . . = ML Y
o ER32-100 50 50 32 100 74 125 - 1.45 D % F1 F2 T
E ER32-135 50 50 32 135 109 160 M16X2.0P 1.90 L - b
" ER32-160 50 50 32 160 134 185 M16X2.0P 2.40 e - "
HSK63A- ER16-75 63 28 16 75 49 107 - 1.00 " ] -
ER16-100 63 28 16 100 74 132 M10X1.5P  1.10 B BUTRET] B FAERT HE
2% ER16-120 63 28 16 120 94 152 M10X1.5P 1.20 Specification Tapping capacity Sut extender Weight 2
1@45 ER16-160 63 28 16 160 134 192 M10X1.5P 1.40 HSK40A- VER16-69 43.5 20 69 0.2 1 M3-M12 VER16-M24 0.54 ?;
H ER20-80 63 34 20 80 49 107 8 1.00 VER20-80 52 25 80 0.2 1 M5-M16 VER20-M26 0.59 z
ER20-100 63 34 20 100 74 132 M12X1.75P 1.20 VER25-90 60 32 90 0.2 1 M6-M20 VER25-M28 0.65
ER20-120 63 34 20 120 94 152 M12X1.75P 1.30 HSK50A- VER16-70 43.5 20 70 0.2 1 M3-M12 VER16-M24 0.66
ER20-160 63 34 20 160 134 192 M12X1.75P 1.70 VER20-87 52 25 87 0.2 1 M5-M16 VER20-M26 0.80
ER25-80 63 42 25 80 49 107 - 1.10 VER25-97 60 32 97 0.2 1 M6-M20 VER25-M28 0.96
ER25-100 63 42 25 100 74 132 M16X2.0P 1.40 HSK63A- VER16-64 43.5 20 64 0.2 1 M3-M12 VER16-M24 0.88
ER25-120 63 42 25 120 94 152 M16X2.0P 1.80 VER20-87 52 25 87 0.2 1 M5-M16 VER20-M26 1.06
ER25-150 63 42 25 150 124 182 M16X2.0P 2.00 VER25-97 60 32 97 0.2 1 M6-M20 VER25-M28 1.21
ER32-100 63 50 32 100 74 132 - 1.60 VER32-113 72 40 113 0.2 1 M10-M24 VER32-M30 1.61
ER32-125 63 50 32 125 99 157 M16X2.0P 2.00 VER40-122 87 50 122 0.2 1 M14-M33 VER40-M32 1.85
ER32-160 63 50 32 160 134 192 M16X2.0P 2.50 HSK100A- VER16-70 43.5 20 70 0.2 1 M3-M12 VER16-M24 3.21
ER40-100 63 63 40 100 74 132 - 2.40 VER20-82 52 25 82 0.2 1 M5-M16 VER20-M26 3.58
ER40-120 63 63 40 120 94 152 M20X2.0P 2.60 VER25-91 60 32 91 0.2 1 M6-M20 VER25-M28 3.95
ER40-160 63 63 40 160 134 192 M20X2.0P 2.95 VER32-110 72 40 110 0.2 1 M10-M24 VER32-M30 4.25
HSK100A- ER16-100 100 28 16 100 71 150 M10X1.5P 3.40 VER40-115 87 50 115 0.2 1 M14-M33 VER40-M32 4.45
ER16-160 100 28 16 160 131 210 M10X1.5P  3.70 S, Sk MR FE B B IR,
ER20-100 100 34 20 100 71 150 M12X1.75P 3.50 Notice: Collets and wrenchs shall be ordered separately.
ER20-160 100 34 20 160 131 210 M12X1.75P 3.90
ER25-100 100 42 25 100 71 150 M16X2.0P 3.70 %% B4 / Feature
E::g_;gg }88 fé gg ;88 B} gég m%gggg 238 WAEZRSAMERE®I0%U L, W Tap tool life increased by 80% and above;
ER32-100 100 50 32 100 71 150 i 3.90 BEXUES I T EENER2-AE, W Work efficiency increased 2 to 4 times;
B ESREmMTESnERE, M Better surface quality;
ER32-160 100 50 32 160 131 210 M16X2.0P  4.70 BB B R h F B Rkl m\With ER tapping collot:
ER32-200 100 50 32 200 17]. 250 M16X20P 520 .ﬁ%{&ﬁ%\ﬁﬂ%éo o .Best Ch0|ce for Squeeze taps
HTH @_.— WG R4 B

See next page

>< DEREK >< DEREK




HPM/HPGC

HSK-A-HPM High Speed Milling Chuck
HSK-A-HPMiE 1345 25 58 /1 8t 7] 3 BR

TPG

HSK-A-TPG Rigid Tapping Chuck
HSK-A-TPGRI {4 I4 ZF 7] 4

MAX
30,000
min~’
o n
I. I.
i g
73 73
e D % “= e
. SR AR BFRES BUSE RFFEE 18 A =k BE »
%3 Specification Suit collet Tapping capacity Specification Clamping range Suit collet Weight %
e HSK63A- TPG312 44 65 M8X1P TPE312 LO6 M3-M12 0.89 HSK50A- HPM16-80 316 50 46 16 54 80 SC16 1.00 e
TPG1022 56 94 MI10X1P TPE1024 M10-M24 1.54 HSK63A- HPM16-80 316 63 46 16 54 80 SC16 1.30
HSK100A- TPG312 44 70 M8X1P TPE312 LO6 M3-M12 2.31 HPM16-100 316 63 46 16 74 100 SC16 1.50
o TPG1022 56 80 M10X1P TPE1024 M10-M24 2.48 HPM20-110 6-20 63 515 20 59 110 SC20 1.70 .
7z i Bk EBEEITE, HPM32-110 6-32 63 68 32 89 110 SC32 2.50 7z
" Notice: Collets shall be ordered separately. HSK100A- HPM16-115 3-16 100 46 16 86 115 SC16 3.60 "
HPM20-105 6-20 100 55 20 86 105 SC20 4.20
HPM32-105 6-32 100 68 32 86 105 SC32 4.50
@3 %% 25 / Feature HPM32-135 6-32 100 68 32 86 135 SC32 5.00 03
Tz o bE
Ll BEATERERSEEMT, W For high precision tapping; = iﬁﬁlﬁ‘g?ﬁ$ , BIREEBHTE, Tk
el Lt WWith internal coolant hole: Notice:Wrench is included,while collet shall be ordered separately.
W EEE SRR AR B R MW Design for high speed and rigid tapping;
. W2 B EEHRE, W Short and compact design. ¥¥ & / Feature .
hE WENFEERE: G2.5; 20,000 rpm. WBalanced: G2.5; 20,000 rpm; 75
W3DEZ [ BEEN0.02 mm. ERunout (X3D): < 0.02 mm.
2 HSK-A-HPC High Speed Milling Chuck RE
5 HSK-AHPCH 15558 /18 J1 3k 58 B
MAX
30,000
min~’

BUSR KiFEEE 18 FA f 3 BH=
Specification Clamping range Suit collet Weight

HSK63A- HPC20-110 6-20 63 51.5 20 84 110 SC20 1.60

HPC32-110 6-32 63 70.5 32 84 110 SC32 2.20

HSK100A- HPC20-105 6-20 100 51.5 20 79 105 SC20 4.10

HPC32-105 6-32 100 70.5 32 79 105 SC32 4.90

HPC32-135 6-32 100 70.5 32 109 135 SC32 5.80

HPC42-115 6-32 100 86 42 89 115 SC42 5.50

T RERIRTF, GREEFHITE,
Notice:Wrench is included,while collet is to be ordered separately.

%% B / Feature
WEFEERRE: G6.3; 15,000 rpms MWBalanced: G6.3; 15,000 rpm;
W3DEE [ BEEH0.02 mm. WRunout (X3D): < 0.02 mm.

»< DEREK §3 DEREK




SLN SLNB/MTA

HSK-A-SLN Side-lock Holder HSK-A-SLNB Side-lock Holder
HSK-A-SLN{EI & =X, 7] 4/ HSK-A-SLNB1 E =X, 711
D D
L3 La L3
D D ] = j’
i R iz TP,

d1
d2

=
%
S is
S
P
-
|
d2
P
£
=
&
d2

% § ST E s|s SR L L B  §
’JJ 3 ‘ ‘ Y ‘ ‘ Y L1 L1 ’JJ 3
e A L2 [ A L2 L L e
L1 L1 A B
; L - ; L -
. A 5 BIgE ; EBEE: B8 ;
%; Specification Figure Side-lock screw Weight %f
" = = : = HSK63A- SLNB6-80 A 63 6 25 8 54 18 - 112 MO60UOSO  0.90 *ﬁ
e TR ey SNBs-80 A 63 8 28 80 54 18 - 112 MOSOUOSO 1.0
e S S 080 STERERNEIE SINB1080 A 63 10 35 80 54 20 - 112 MIOOUI20  1.00
@y HSK50A- SLN6-65 A 50 6 25 65 39 18 - 90  MOGOUG8O  0.70 SLNB12-90 A 63 12 42 90 64 225 - 122 M120U140  1.70 @3
il Stwe-65 A 50 8 28 6 3 18 .- 90  MosOUosO 080 SLNB16-100 A 63 16 48 100 74 24 - 132 M140U160  1.70 2
SLNto65 A 50 10 3% 65 39 20 - 90  MIOOUI20 0.80 SLNB20-100 A 63 20 52 100 74 25 - 132 M160U250  1.80
SLN12-80 A 50 12 42 80 54 225 - 105  MI20U140 1.20 SLNB25-110 B 63 25 65 110 84 24 22 142 M180Z160P  2.50
SLNt6-80 A 50 16 48 80 54 24 - 105  MI140U160 1.30 SLNB32-110 B 63 32 72 110 84 24 24 142 M200Z200P  2.70
25 STHAT (IR S N S S R Ve HSK100A- SLNB6-90 A 100 6 25 90 61 18 - 140 MO60UOBO  3.00 23
;%ﬁ HSK63A- SLN6-65 A 63 6 25 65 39 18 - 97 MO60U080 0.90 SLNBS8-90 A 100 8 28 90 61 18 _ 140 MO80UO080 3.20 g%%
SLNe-t00 A 63 6 25 100 /4 18 - 132 MO6OUOSO 1.30 SLNB10-90 A 100 10 35 90 61 20 - 150 M100U120  3.40
SLN8-65 A 63 8 28 65 39 18 - 9/  MOSOUIOO 1.00 SLNB12100 A 100 12 42 100 71 225 - 150 M120U140  3.40
~ SLng-100 A 63 & 28 100 74 18 - 132 MO80UL00 1.40 SLNB16-100 A 100 16 48 100 71 24 - 150 M140U160  3.80 .
83 SLN1065 A 63 10 3 65 39 20 - 97 M100U120 1.00 SLNB20-110 A 100 20 52 110 81 25 - 160 M160U250 3.90 8
i’ SLNt0-100 A 63 10 35 100 74 20 - 132 M100U120 1.50 SINB25120 B 100 25 65 120 91 24 22 170 M180Z160P  4.00 #
SLN12-80 A 63 12 42 80 54 225 - ll2  MI20U140 1.70 SLNB32-120 B 100 32 72 120 91 24 24 170 M200Z200P  4.10
SIN12120 A 63 12 42 120 94 225 - 152 MI120U140 2.00
o SLN16-80 A 63 16 48 80 54 24 - 112 M140U160 1.70 HSK-A-MTA Morse Taper Adapter .
m SLIN6-120 A 63 16 48 120 94 24 - 152 M140U160 2.10 A ~op T s g
g SIN2080 A 63 20 52 80 54 25 - 112 M160U160 1.80 HSKAMTASSURE 11 (RIS ) g
: SLN20-120 A 63 20 52 120 94 25 - 152 M160U160 2.40 :
SIN25-110 B 63 25 65 110 8 24 25 142  M180Z160P 250
SLIN25-160 B 63 25 65 160 134 24 25 192  M180Z160P  2.65
SIN32-110 B 63 32 72 110 8 24 28 142  M200Z200P  2.70
SLIN32-160 B 63 32 72 160 134 24 28 192  M200Z200P  3.00
HSK100A- SLN6-80 A 100 6 25 80 51 18 - 130  M060U0SO 3.00
SLN6-130 A 100 6 25 130 131 18 - 180  MO060U0SO 3.20
SLN8-80 A 100 8 25 8 51 18 - 130  MO8OU100 3.20
SLN8-130 A 100 8 25 130 131 18 - 180  MO8OU100 3.40
SLN10-80 A 100 10 35 8 51 20 - 130  M00U120 3.40
SLN10-130 A 100 10 35 130 131 20 - 180  M100U120 3.70
SLN12-80 A 100 12 42 80 51 225 - 130  MI120U140 3.40 g
SLN12-130 A 100 12 42 130 131 225 - 180  M120U140 3.70 Specification
SLN6-100 A 100 16 48 100 71 24 - 150  M140U160 3.80
SINe-160 A 100 16 48 160 71 24 - 210  MI40U160  4.10 il . E—- = P —__ o e o e
SLN20-100 A 100 20 52 100 71 25 - 150  M180Z160P  3.90 MTAS.140 50 10 93 875 140 14 84 165 190
SLN20-160 A 100 20 52 160 71 25 - 210 MI180Z160P  3.80 —— = e B o o = X T
SLN25-100 B 100 25 65 100 71 24 25 150  M200Z200P  4.00 MTAZ-120 63 32 17 780 120 94 67 152 200
SLN25-160 B 100 25 65 160 71 24 25 210  M200Z200P  4.40 MTAS-140 63 i s Wi T oA = 5750
SLN2-100 B 100 32 72 100 71 24 28 150  M200Z200P  4.10 MTAG160 63 m 31 267 160 134 107 192 250
SLN32-160 B 100 32 72 160 71 24 28 210  M200Z200P  4.50 Hsk100A- ITEEEE T = BiT 0 = 5 i =
x: MFFEFHTE, . ' '
Notice: W_rr%nchs Sﬁﬁ be ordered separately. m::;::g %88 ig Z;gg %28 19211 gz %8 igg
MTA4-170 100 48 31.267 170 141 107 220 4.60
MTA5-200 100 63 44.299 200 171 135 250 5.20

B18 >< DEREK ;< DEREK




SPU/FMB

HSK-A-SPU Drill Chuck Holder
HSK-A-SPU B #5 =C #2 5 28 J1 47

Py
=

BH

Sy
v
TOOL HOLDERS

S

RUg RIEE B8

\ Specification D 3D Weight
. HSK50A- SPU8-120 50 50 8 120 09 55 167 0.05 1.61
At HSK63A- SPU13-150 63 50 13 150 124 55 194 0.05 2.65
w SPU16-155 63 57 16 155 129 55 199 0.05 3.12
HSK100A- SPU13-155 100 50 13 155 130 75 217 0.05 4.23
SPU16-160 100 57 16 160 135 75 222 0.05 4.55

EE: ﬁ%ﬁ%ﬁ%u

Notice:Wrench is included.

HSK-A-FMB Face Mill Holder
HSK-A-FMB¥-m &t 7148

/ %ﬁaog/ %ﬁaxs/ %ﬁaia/
' ISO holder SK holder BT holder
)

S

— =
FEHIAA
Holder accessorie

L1 | 2

= o e

AR Eibap TIEESHELHEE] BE @ H=
Specification Figure D L Lockingscrewforcutter Washer Weight
HSK50A- FMB22-60 A 50 22 26 48 60 18 14 104 E100U300 : 1.00
FMB27-60 A 50 2/ 315 60 60 20 16 106 E120U300 FVI-1 1.10

HSK63A- FMB22-50 A 63 22 26 48 50 18 : 101 E100U300 - 1.30
FMB22-100 A 63 22 26 48 100 18 : 151 E100U300 - 1.80

FMB27-60 A 63 2/ 3l.b 60 60 20 16 113 E120U300 FV-1 1.60
FMB27-100 A 63 2/ 31.b 60 100 20 16 153 E120U300 FIV-1 2.30

FMB32-60 A 63 32 41 /8 60 22 16 116 E160U350 FIVI-2 2.00
FMB32-100 A 63 32 41 /8 100 22 16 156 E160U350 FVI-2 2.80

FMB40-60 A 63 40 48 30 60 25 20.5 119 E200U350 FM-3 2.20
HSK100A- FMB22-50 A 100 22 26 48 50 138 14 119 E100U300 : 2.90
FMB22-100 A 100 22 26 48 100 18 14 169 E100U300 : 3.90

FMB27-50 A 100 27 31.b 60 50 20 16 121 E120U300 FIV-1 2.90
FMB27-100 A 100 2/ 31.b 60 100 20 16 171 E120U300 F V- 3.70

FMB32-50 A 100 32 41 /8 50 22 16 124 E160/500-40 - 3.80
FMB32-100 A 100 32 41 /8 100 22 16 174  E160/500-40 4.80

FMB40-60 A 100 40 48 30 60 25 20.5 137 £E200/500-50 4.10
FMB40-100 A 100 40 48 30 100 25 20.5 177 E200/500-50 4.90
FMB6OF-70 B 100 60 : 129 /0 25 101.6 160 E160U500 5.50

>< DEREK




